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A B D

fo|kF;k±lkBh egŸokP;k lwpuk
1. ifj{kkFkh±uh vkiyk vklu ÿekad ;k i`"Bkojhy ojP;k dksiÚ;kr fygkok-

rlsp vki.kkal fnysY;k mŸkjif=dspk ÿekad R;k[kkyh fygkok-
2. lnj iz'uif=dsr 75 cgqi;kZ;h iz'u vkgsr- izR;sd iz'ukl nksu xq.k

vkgsr- ;k iz'uif=dsrhy loZ iz'u lksMfo.ks vfuok;Z vkgs- lnjps iz'u
gs ;k fo"k;kP;k laiw.kZ vH;klÿekoj vk/kkfjr vkgsr-

3. ijh{kk lq: >kY;koj fo|kF;kZyk iz'uif=dk fnyh tkbZy- lq#okrhP;k 5
feuhVkae/;s vki.k lnj iz'uif=dk m?kMwu [kkyhy ckch vo'; riklwu
igkO;kr-
(i) iz'uif=dk m?kM.;klkBh iz'uif=dsoj ykoysys lhy m?kMkos-

lhy ulysyh fdaok lhy m?kMysyh iz'uif=dk fLodk: u;s-
(ii) ifgY;k i`"Bkoj uewn dsY;kizek.ks iz'uif=dsph ,dw.k i`"Bs

rlsp iz'uif=dsrhy ,dw.k iz'ukaph la[;k iMrk w̌u igkoh-
i`"Bs deh vlysyh@deh iz'u vlysyh@iz'ukapk pwdhpk
ÿe vlysyh fdaok brj =qVh vlysyh lnks"k iz'uif=dk
lq#okrhP;k 5 fefuVkrp i;Zos{kdkyk ijr ns≈u nqljh
iz'uif=dk ekxowu ?;koh- R;kuarj iz'uif=dk cnywu
feˇ.kkj ukgh rlsp oš gh ok<owu feˇ.kkj ukgh ;kph œi;k
fo|kF;k±uh uksan ?;koh-

(iii) ojhyizek.ks loZ iMrkˇwu ifgY;kuarjp iz'uif=dsoj
vks-,e-vkj- mŸkjif=dspk uacj fygkok-

4. izR;sd iz'uklkBh (A), (B), (C) vkf.k (D) v'kh pkj fodYi mŸkjs fnyh
vkgsr- R;krhy ;ksX; mŸkjkpk jdkuk [kkyh n'kZfoY;kizek.ks Bˇdi.ks
dkˇk@fuˇk djkok-
mnk- % tj (C) gs ;ksX; mŸkj vlsy rj-

5. ;k iz'uif=dsrhy iz'ukaph mŸkjs vks-,e-vkj- mŸkjif=dsrp n'kZokohr-
brj fBdk.kh fyghysyh mŸkjs riklyh tk.kkj ukghr-

6. vkr fnysY;k lwpuk dkˇthiwoZd okpkO;kr-
7. iz'uif=dsP;k 'ksoVh tksMysY;k dksÚ;k ikukojp dPps dke djkos-
8. tj vki.k vks-,e-vkj- oj uewn dsysY;k fBdk.kk O;frjh‰ brj dksBsgh

uko] vklu ÿekad] Qksu uacj fdaok vkš [k iVsy v'kh dks.krhgh [kw.k
dsysyh vk< w̌u vkY;kl vFkok vlH; Hkk"kspk okij fdaok brj xSjekxk±pk
voyac dsY;kl fo|kF;kZyk ijh{ksl vik= Bjfo.;kr ;sbZy-

9. ijh{kk laiY;kuarj fo|kF;kZus ew̌  vks-,e-vkj- mŸkjif=dk i;Zos{kdkadMs
ijr dj.ks vko';d vkgs- rFkkih] iz'uif=dk o vks-,e-vkj- mŸkjif=dsph
f}rh; izr vkiY;kcjkscj us.;kl fo|kF;k±uk ijokuxh vkgs-

10. Q‰ fuˇÓk fdaok dkˇÓk ckWy isupkp okij djkok-
11. dWyD;qysVj fdaok ykWx Vscy okij.;kl ijokuxh ukgh-
12. pqdhP;k mŸkjklkBh xq.k dikr dsyh tk.kkj ukgh-

A B D
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1. Identify the correct match and select

the correct answer from the codes

given below :

(i) Citation Indexing (a) Sharp

(ii) Keyword Indexing (b) Garfield

(iii) Automatic Indexing (c) Luhn

(iv) SLIC (d) Herbert

Codes :

(i) (ii) (iii) (iv)

(A) (b) (c) (d) (a)

(B) (a) (d) (c) (b)

(C) (c) (a) (d) (b)

(D) (d) (c) (b) (a)

2. The model summarized as “who says

what in which channel to whom with

what effect” is :

(A) George Gerbner

(B) Lasswell

(C) Shannon and Weaver

(D) Schramm

1. tksMÓk tqˇok vkf.k ;ksX; mŸkj fnysY;k
ladsrke/kwu fuoMk %

(i) lk;Vs'ku baMsfDalx (a) 'kkiZ

(ii) dhoMZ baMsfDalx (b) xkjfQYM

(iii) vVkseWVhd baMsfDalx (c) yqu

(iv) fLyd (d) gjcVZ

ladsr %

(i) (ii) (iii) (iv)

(A) (b) (c) (d) (a)

(B) (a) (d) (c) (b)

(C) (c) (a) (d) (b)

(D) (d) (c) (b) (a)

2. ^^dks.k] dks.kkl] dks.kR;k ek/;ekrwu dks.kR;k
ifj.kkeklg dk; Eg.kkys** g s fo/kku
[kkyhyiSdh dks.kR;k izk:ikr lekfo"V
vkgs \

(A) tkWtZ xcZuj

(B) yklosy

(C) 'kkuu vkf.k fOgoj

(D) 'kzke

Library and Information Science
Paper III

xzaFkky; vkf.k ekfgrh 'kkL=
iz'uif=dk III

Time Allowed : 2½ Hours] [Maximum Marks : 150

Note : This paper contains Seventy Five (75) multiple choice questions, each
carrying Two (2) marks. Attempt All questions.

lwpuk % ;k iz'uif=dsr ,dw.k ipgŸkj (75) cgqi;kZ;h iz'u fnysys vkgsr- izR;sd iz'ukyk nksu (2)

xq.k vkgsr- loZ iz'u lksMok-
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3. A restricted set of words and phrases

that are used to describe documents

within a given set is :

(A) Controlled vocabulary

(B) Suggestive vocabulary

(C) Prescriptive vocabulary

(D) Descriptive vocabulary

4. In computer virus terms,

“metamorphic code” is a code :

(A) That can generate an encryptor

(B) That can generate a decryptor

(C) That mutates while keeping the

original algorithm intact

(D) That can reprogram itself

3. fnysY;k lapkrhy izys[kkaps o.kZu dj.;klkBh

okijysY;k e;kZnhr laKk 'kCn leqgkyk

------------------- Eg.krkr-

(A) fu;af=r laKk

(B) f'kQkjl dsysY;k laKk

(C) vf/kœr laKk

(D) o.kZukRed laKk

4. lax.kd Ogk;jlP;k ifjHkk"ksr ^^esVkekWfQZd

dk sM** Eg.kt s v'kh vkKkoyh dh

th %

(A) lkadsrhdj.k d: 'kdrs

(B) fMfÿIVjph fufeZrh djrs

(C) eqˇ vyxksfjne rlkp Bsowu vkKkoyhr

cny djrks

(D) Lor% Lor%ps iwuvkZKkoyhdj.k djrs
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5. Match the following and select the

correct answer from the codes given

below :

(i) Subject access (a) 0XX

(ii) Notes (b) 4XX

(iii) Series statement (c) 5XX

(iv) Control information (d) 6XX

Codes :

(i) (ii) (iii) (iv)

(A) (d) (c) (b) (a)

(B) (c) (d) (b) (a)

(C) (a) (c) (d) (b)

(D) (c) (a) (b) (d)

6. Group three entities in FRBR consist

of :

(A) Concept and object

(B) Concept, object and subject

(C) Author, title, event and place

(D) Concept, object, event and

place

7. The two storage technologies

are ............... .

(A) Electronic and Magnetic

(B) Magnetic and Optical

(C) Optical and Electronic

(D) Electronic and Electrical

5. tksMÓk tq̌ ok vkf.k ;ksX; mŸkj fnysY;k

ladsrke/kwu fuoMk %

(i) lCtsDV vWDlsl (a) 0XX

(ii) Vhik (b) 4XX

(iii) ekyk fo/kku (c) 5XX

(iv) fu;af=r ekfgrh (d) 6XX

ladsr %

(i) (ii) (iii) (iv)

(A) (d) (c) (b) (a)

(B) (c) (d) (b) (a)

(C) (a) (c) (d) (b)

(D) (c) (a) (b) (d)

6. ,Q- vkj- ch- vkj- e/khy frlÚ;k xVkrhy

?kVdke/;s ----------------- pk lekos'k vkgs-

(A) ladYiuk vkf.k oLrw

(B) ladYiuk] oLrw vkf.k fo"k;

(C) xzaFkdkj] 'kh"kZd] ?kVuk vkf.k fBdk.k

(D) ladYiuk] oLrw] ?kVuk vkf.k fBdk.k

7. -------------------- gh nksu ekfgrh lkBo.k ra=Kku
vkgsr-

(A) bysDV™kWfud vkf.k eWXusfVd

(B) eWXusfVd vkf.k vkWfIVdy

(C) vkWfIVdy vkf.k bysDV™kWfud

(D) bysDV™kWfud vkf.k bysDV™hdy
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8. The Dublin Core metadata elements

related mainly to the resource as

intellectual property are :

(A) Creator, Publisher, Identifier

and Rights

(B) Creator, Publisher, Relation

and Rights

(C) Creator, Title, Subject and

Relation

(D) Creator, Publisher, Contributor

and Rights

9. In the MARC record structure,

which component is an index to the

location of variable-length fields

within record ?

(A) Leader

(B) Directory

(C) Fixed fields

(D) Fields for subject access

8. MfCyu dksj esVkMsVke/khy dks.krs ?kVd ekfgrh

lk/kukP;k ckSfºd lains'kh eq[;r% fuxfMr

vkgsr \

(A) fuekZrk] izdk'kd] vk;MsafVQk;j vkf.k

vf/kdkj

(B) fuekZrk] izdk'kd] laca/k vkf.k vf/kdkj

(C) fuekZrk] xzaFkuke] fo"k; vkf.k laca/k

(D) fuekZrk] izdk'kd] lgHkkxh ys[kd vkf.k

vf/kdkj

9. ekdZP;k uksan lajpusr cn.kkjh ykach vlysys

uks an{ks= n'kZfo.kkÚ;k ?kVdkyk ---------------

Eg.krkr-

(A) fyMj

(B) fMjsDVjh

(C) vpy uksan{ks=

(D) fo"k; 'kks/kkps uksan{ks=
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10. Arrange the following events in

their ascending chronological order :

(i) International Meeting of

Cataloguing Experts

(ii) The International Conference

on Cataloguing Principles held

in Paris

(iii) The ‘Anglo-American Cataloguing

Rules, Second Edition’ (AACR-2)

(iv) Publication of two versions

of the Anglo-American

Cataloguing Rules (AACR), a

North American text and a

British text

The correct answer is :

(A) (i), (ii), (iv), (iii)

(B) (i), (ii), (iii), (iv)

(C) (ii), (iv), (i), (iii)

(D) (ii), (i), (iv), (iii)

10. [kkyhy ?kVukaph p<R;k dkyÿekuqlkj ekaM.kh

djk %

(i) baVjuW'kuy fefVax vkWQ dWVykWfxax

,DliVZ

(ii) iWfjl ;sFkhy baVjuW'kuy dkWUQjUl vkWu

dWVykWfxax fizafliYl

(iii) v°Xyks&vesfjdu dWVykWfxax :Yl] nqljh

vko`rh (,-,-lh-vkj-&2)

(iv) v°Xyk s&vesfjdu dWVykWfxax :Yl

(,-,-lh-vkj-) ukWFkZ vesfjdu vkf.k

fczfV'k vko`rh v'kk nksu vko`R;kps

izdk'ku

;ksX; mŸkj vkgs %

(A) (i), (ii), (iv), (iii)

(B) (i), (ii), (iii), (iv)

(C) (ii), (iv), (i), (iii)

(D) (ii), (i), (iv), (iii)
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11. Bandwidth is measured in ............... .

(A) Megabite

(B) Hertz

(C) Gegabite

(D) Terabite

12. Pathfinders are basically ............... .

(A) Subject bibliographies

(B) Bio-bibliographies

(C) Biographies

(D) Bulletins

13. Which organization has introduced

the concept of ‘Sister Libraries’ for

children’s and young adults

reading ?

(A) UNESCO

(B) IFLA

(C) LC

(D) LA

11. ----------------- gs cWUMfoMFk ekst.;kps ifjek.k

vkgs-

(A) esxkckbZV

(B) gVZ>~

(C) xsxkckbZV

(D) VsjkckbZV

12. ^ikFkQk;aMlZ* Eg.kts --------------------

(A) fo"k; xzaFklwph

(B) pfj=&xzaFklwph

(C) pfj=xzaFk

(D) cqysVhUl~ (o`Ÿkif=dk)

13. cky vkf.k r#.k okpdkalkBh -------------------

;k laLFk su s ^^Hkfxuh xz aFkky;s (flLVj

yk;czjht)** gh ladYiuk lqpfoyh vkgs-

(A) ;qusLdks

(B) bQyk

(C) ,y- lh-

(D) ,y- ,-
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14. Which of the following can be

identified with Ranganathan’s fifth

law of library science ?

(A) Providing Reference Service

(B) Providing Open Access

(C) Providing Analytical Entries

(D) Acquiring new books

15. Arrange the following publications

in their chronological order from the

earliest to the latest :

(i) A.L.A. List of Subject Headings

(ii) Subject headings used in the

Dictionary Catalogues of the

Library of Congress (Later

changed to ‘Library of Congress

Subject Headings’)

(iii) Rules for a Dictionary Catalogue

(iv) List of Subject Headings for

Small Libraries (Later changed

to ‘Sear’s List of Subject

Headings’)

The correct answer is :

(A) (i), (ii), (iii), (iv)

(B) (iii), (ii), (i), (iv)

(C) (iii), (i), (ii), (iv)

(D) (i), (iii), (ii), (iv)

14. jaxukFku ;kaps xzaFkky; vkf.k ekfgrh'kkL=kps

ikpos lw= [kkyhyiSdh dks.kR;k ?kVdk'kh

lacaËkhr vkgs \

(A) lanHkZ lsok iqjfo.ks

(B) eqDr}kj lqfo/kk iqjfo.ks

(C) fo'ys"k.kkRed uksanh iqjfo.ks

(D) uohu xzaFk mikftZr dj.ks

15. [kkyhy izdk'kukaph R;kaP;k lwjokrhiklwurs

vkrki;±r v'kk dkyÿekuqlkj jpuk djk %

(i) ,- ,y- ,- fyLV vkWQ lCtsDV gsfMaXt

(ii) fMDlujh dWVykWx vkWQ n yk;czjh vkWQ

dk°xzsle/khy (yk;czjh vkWQ dk°xzsl

lCtsDV gsfMaXt)

(iii) :Yl QkWj fMDlujh dWVykWx

(iv) fyLV vkWQ lCtsDV gsfMaXt QkWj LekWy

yk;czjht (flvlZ fyLV vkWQ lCtsDV

gsfMaXt)

;ksX; mŸkj vkgs %

(A) (i), (ii), (iii), (iv)

(B) (iii), (ii), (i), (iv)

(C) (iii), (i), (ii), (iv)

(D) (i), (iii), (ii), (iv)
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16. The year of publication in

parenthesis follows immediately

after the name/s of the authors

in :

(A) Chicago Manual of Style

(B) Modern Language Association

(C) American Psychological

Association

(D) Scientific Style and Format

17. The transmission of receiver’s

reaction back to the sender is known

as :

(A) Noise

(B) Medium

(C) Feedback

(D) Redundancy

16. dks.kR;k 'kSyhiqfLrdsr xzaFkdkjkP;k ukokiq<s

xksy dalke/;s yxspp izdk'ku o"kZ fnys

tkrs \

(A) f'kdWxks eWU;qvy vkWQ LVkbZy

(B) ekMuZ y°Xost vlksfl,'ku

(C) vesfjdu lk;dkWykWftdy vlksfl,'ku

(D) lk;afVfQd LVkbZy vWUM QkWjesV

17. lans'k izkIrdR;kZph izfrfÿ;k lans'k jokuxh

dj.kkÚ;kdMs ijr ikBfo.;kP;k fÿ;sl

------------------- Eg.krkr-

(A) vMFkˇ (ukWbZt)

(B) ek/;e (fefM;e)

(C) izfrlkn (fQMcWd)

(D) vuko';d lans'k (fjM~UMUlh)
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18. Non-web forms of hypertext and

hypermedia includes ................... .

(A) CD-ROM and DVD encyclopedia

(B) Printed books

(C) Data links

(D) Information links

19. The ‘Chi-square Test’ is used

to compare the observed

frequency with that of ........................

frequency.

(A) Expected

(B) Experimental

(C) Enumerated

(D) Imaginary

18. ------------------- gs gk;ijVsDLV o gk;ijfefM;kps

oscjfgr izdkj vkgsr-

(A) lhMh jkWe vkf.k fM-Ogh-Mh- Lo:ikrhy

Kkudks'k

(B) eqfÊr xzzaFk

(C) MsVk fyaDl

(D) bUQkWjes'ku fyaDl

19. fujhf{kr okjaokjhrsph ---------------- okjaokjhrs

cjkscj rqyuk dj.;klkBh ^dk;&LDok;j

pkp.kh* okijyh tkrs-

(A) visf{kr

(B) izk;ksfxd

(C) izx.kuh;

(D) dkYifud
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20. fo/kku (A) : iqujko`rh vkf.k fo'oluh;rsP;k

vHkkokeqˇs ,sfrgkfld la'kk s/ku iºrhl

'kkL=ksDr iºr ekur ukghr-

dkj.k (R) : leh{ksoj vk/kkfjr vlY;kus

,sfrgkfld la'kks/ku gs iw.kZr% 'kkL=ksDr vkgs-

ladsr %

(A) (A) vkf.k (R) nksUgh cjkscj vkgsr

(B) (A) cjkscj vkgs i.k (R) pwd vkgs

(C) (A) pwd vkgs i.k (R) cjkscj vkgs

(D) (A) vkf.k (R) nksUgh pwd vkgsr

21. [kkyhyiSdh dks.kR;k xVke/;s dsoˇ vlaHkkO;rk

uequk fuoM iºrhph ra=s lekfo"V vkgsr %

(A) gsrwiwjd] lksbZLdj] lk/ks ;kn`fPNd]

LuksckWy

(B) gsrwiwjd] lksbZLdj] Lo;aLQqrZ] LuksckWy

(C) lksbZLdj] lk/ks ;kn`fPNd] Lo;aLQqrZ]

LuksckWy

(D) lk/ks ;kn`fPNd] gsrwiwjd] Lo;aLQqrZ]

LuksckWy

20. Assertion (A) : Historical research

cannot be regarded scientific as it

lacks replication and reliability.

Reason (R) : Historical research is

truly scientific as it is based on

criticism.

Codes :

(A) Both (A) and (R) are true

(B) (A) is true but (R) is false

(C) (A) is false but (R) is true

(D) Both (A) and (R) are false

21. Identify the group that contains

only non-probability sampling

techniques :

(A) Purposive, convenience, simple

random and snowball

(B) Purposive, convenience, volunteer

and snowball

(C) Convenience, simple random,

volunteer and snowball

(D) Simple random, purposive,

volunteer and snowball
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22. Multiplexing is process of transmitting

..................... via single carrier.

(A) Several different signals

(B) Complex signals

(C) Solo signals

(D) Diverting signals

23. The ‘methodology section’ of the

research plan specifies ................... .

(A) Population and sample

(B) Results of prior studies

(C) Apparatus, instruments and

materials

(D) Both (A) and (C)

24. Which of the following includes

examples of quantitative variables ?

(A) Age, temperature, weight,

height

(B) Grade point average, income

(C) Gender, religion, ethnic group

(D) Both (A) and (B)

22. -------------------- ps ,dkp ek/;eka}kjs lans'kogu

dj.;kP;k izfÿ;syk eYVhIysfDalx Eg.krkr-

(A) fofo/k izdkjP;k vusd ygjh

(B) fDy"V ygjh

(C) ,d ygjh

(D) fo[kqjysY;k ygjh

23. la'kks/ku vkjk[kMÓkP;k ^la'kks/ku iºrh*

foHkkxkr ------------------ pk mYys[k vlrks-

(A) y{kxV vkf.k uequk

(B) iwoZ la'kks/kukps fu"d"kZ

(C) midj.ks] ;a=s vkf.k lk/kus

(D) (A) vkf.k (C) nksUgh

24. [kkyhyiSdh dks.kR;k i;kZ;ke/;s la[;kRed

pykph mnkgj.ks vkgsr \

(A) o;] rkieku] otu] maph

(B) xzsM ikWb±V vWOgjst] mRiUu

(C) fyax] /keZ] okaf'kd oxZ

(D) (A) vkf.k (B) nksUgh
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25. Which of the following terms best

describe data that were originally

collected at an earlier time by a

different person for a different

purpose ?

(A) Primary data

(B) Secondary data

(C) Experimental data

(D) Field notes

26. A probability which is associated

with the occurrence of an event is

expressed as a number between :

(A) 0 and 1

(B) +1 and –1

(C) –1 and 0

(D) 1 and < 1

27. Whether library is a system ?

(A) Yes, it has its sections as a

system has

(B) No, it cannot be a system

(C) Quite impossible

(D) Library is separate from a

system

25. iwoZdkˇke/;s fofo/k O;Drhauh fofo/k

dkj.kkalkBh ladfyr dsysY;k ekfgrhyk

dk; Eg.krkr \

(A) izkFkfed ekfgrh

(B) f}rh;d ekfgrh

(C) izk;ksfxd ekfgrh

(D) {ks=h; vH;klkP;k uksanh

26. ------------------- e/khy vad ?kVusP;k vfLrRokph

'kD;rk n'kZforkr-

(A) 0 vkf.k 1

(B) +1 vkf.k –1

(C) –1 vkf.k 0

(D) 1 vkf.k < 1

27. xzaFkky; gh iºrh vkgs dk \

(A) gks;] dkj.k R;ke/;s iºrhizek.ksp

foHkkxgh vkgsr

(B) ukgh] xazFkky; iºrh vlw 'kdr ukgh

(C) dsoˇ v'kD;

(D) xzaFkky; gs iºrhis{kk osx š vkgs
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28. ‘Quality Circles’ in organization is

used in :

(A) Personnel Estimation

(B) Personnel Evaluation

(C) Budgetary Control

(D) Participative Management

29. The motivation theory that is based

on two stimuli motivators and

hygienic factors is suggested

by :

(A) McGregor

(B) Argyris

(C) Maslow

(D) Herzberg

30. Combination of any two or more

topologies is called as ................. .

(A) Unique

(B) Hybrid

(C) Bus

(D) Physical

28. laLFksrhy ^xq.koŸkk eaMˇ* ------------------ okijys

tkrs-

(A) lsodkaph visf{kr la[;k Bjfo.;klkBh

(B) lsodkaP;k ewY;ekiuklkBh

(C) vankti=dh; fu;a=.kklkBh

(D) lgHkkxh O;oLFkkiuklkBh

29. f}izsjds vkf.k vkjksX; ;koj vk/kkfjr vlysyk

izsj.kk flºkar ----------------------- ;kauh lqpfoyk

vkgs-

(A) eWd~xzsxj

(B) vxzhfjl

(C) ekLyks

(D) gtZcxZ

30. ---------------------- VksiksykWth gh dks.kR;kgh nksu

fdaok vf/kd VksiksykWthP;k ,df=dj.kkrwu

r;kj gksrs-

(A) ,deso (;qfud)

(B) feJ (gk;fczM)

(C) cl

(D) HkkSfrd (fQftdy)
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31. nwj/ouh tkˇÓke/;s ------------------- fLofpax

iºrhpk okij djrkr-

(A) eslst

(B) lfdZV

(C) iWdsV

(D) lkslZ

32. bZ&esy iºrh gh --------------------- izk:ikoj

vkËkkfjr vkgs-

(A) QDr lkBo.k

(B) lkBo.k vkf.k iq<s ikBfo.ks

(C) ladyu vkf.k tru

(D) QDr laizs"k.k

33. ----------------------------- gÓk ekfgrh'kkL=Kkus

K(S) 1 K(S S)+ ∆ = + ∆  ;k lk/;k xf.krh

lw=k}kjs Kkukpk vFkZ Li"V dsyk vkgs-

(A) ch- lh- czqDl

(B) lh- bZ- 'kkuu

(C) ,u- ts- csyfdu

(D) ,Q- eWdyi

31. Which type of switching system is

used in telephone network ?

(A) Message switching

(B) Circuit switching

(C) Packet switching

(D) Source switching

32. E-mail systems are based on ...............

model.

(A) Only store

(B) Store and forward

(C) Collect and preserve

(D) Only disseminate

33. Which information scientist

has expressed knowledge in

a simple mathematical equation

K(S) 1 K(S S)

 ?

(A) B. C. Brooks

(B) C. E. Shanon

(C) N. J. Belkin

(D) F. Machlup
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34. --------------------- vkKkoyhps dk;|k}kjs laj{k.k

dsys tkrs rlsp R;kaph ekydh fof'k"V

ekydkdMs vlrs-

(A) Lor%P;k ekydhP;k

(B) vnkuiznku dj.kkÚ;k

(C) eqDr iz.kkyh

(D) ewY;fojghr

35. tksMÓk tqˇok vkf.k ;ksX; mŸkj fnysY;k

ladsrke/kwu fuoMk %

(i) vkWijsfVax flLVe (a) fouf>i

(ii) ;qVhfyVh lkW∂Vosvj (b) lh$$

(iii) vWIyhds'ku lkW∂Vosvj (c) fyuDl

(iv) gk; ysOgy y°Xost (d) ,e-,l- vkWfQl

ladsr %

(i) (ii) (iii) (iv)

(A) (b) (d) (a) (c)

(B) (c) (a) (d) (b)

(C) (a) (b) (c) (d)

(D) (d) (c) (b) (a)

34. ................... softwares are protected by

laws and also owned by a particular

owner.

(A) Proprietary

(B) Exchangeable

(C) Open system

(D) Freeware

35. Match the following and select the

correct answer from the codes given

below :

(i) Operating system (a) WinZip

(ii) Utility software (b) C++

(iii) Application software (c) Linux

(iv) High level language (d) MS Office

Codes :

(i) (ii) (iii) (iv)

(A) (b) (d) (a) (c)

(B) (c) (a) (d) (b)

(C) (a) (b) (c) (d)

(D) (d) (c) (b) (a)
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36. [kkyhyiSdh dks.krh vankti=h; iºr ekxhy

o"kkZpk tek[kpZ fopkjkr ?ksr ukgh \

(A) lw=k/kkjhr vankti=

(B) 'kqU;k/kkjhd vankti=

(C) dk;Zÿekf/k"Bhr vankti=

(D) ykbZu&ck;&ykbZu vankti=

37. f}vafd; iºrhr (ck;ujh flLVe) 9 gk vad
--------------------- us n'kZfoyk tkrks-

(A) 1000

(B) 1001

(C) 1010

(D) 1011

38. MsVk ek;fuax Eg.kts ------------------

(A) eksBÓk ekfgrh lapke/kwu uequk (iWVuZ)

'kks/k ra=

(B) vgokyklkBh okijysyk ekfgrh lap

(C) laLFksP;k ekfgrhph laxzfgdk

(D) laLFksP;k ekfgrh lapkP;k vkjs[kukph]

fufeZrhph vkf.k ns[kHkkyhph izfÿ;k

36. Which of the following budgeting

methods does not take into

consideration previous income and

expenditure ?

(A) Formula budget

(B) Zero based budget

(C) Programme budget

(D) Line by line budget

37. In Binary Number System digit 9

is represented by :

(A) 1000

(B) 1001

(C) 1010

(D) 1011

38. Data Mining is .................. .

(A) A technique for searching large

scale databases for patterns

(B) A database used for reporting

(C) A repository of an organisation’s

stored data

(D) The process of designing,

building and maintaining an

organisation’s database
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39. Who coined the term ‘Blog’ ?

(A) Peter Merhotz

(B) John Berger

(C) David Weiner

(D) Michael Zeinne

40. FRBR is ..................... .

(A) a data model

(B) a catalogue model

(C) a conceptual model

(D) a bibliographic model

41. Which symbol is not used in CDS/

ISIS ?

(A) Dollar ($)

(B) Dot (•)

(C) Tilde (~)

(D) Caret (^)

42. Which of the following is a virtual

book store ?

(A) Google scholar

(B) Yahoo India

(C) Amazon . Com.

(D) Rediff

39. ^CykWx* gh laKk ------------------------ us fuekZ.k

dsyh-

(A) fiVj ejgksV~>

(B) tkWu cjxj

(C) MsOghM ok;uj

(D) ek;dy >kb~Zu

40. ,Q- vkj- ch- vkj- gs ------------------ vkgs-

(A) MsVk izk:i

(B) rkfydk izk:i

(C) dkYifud izk:i

(D) xzaFklwph; izk:i

41. lh- Mh- ,l-@vk;- ,l- vk;- ,l- gÓk iz.kkyhr

[kkyhyiSdh dks.krs fpUg okijys tkr ukgh \

(A) MkWyj ($)

(B) MkWV (•)

(C) fVYMk (~)

(D) dWjsV (^)

42. ------------------- gs vkHkklh xzaFkHkkaMkj vkgs-

(A) xqxy LdkWyj

(B) ;kgw bafM;k

(C) ves>kWu - dkWe

(D) jsMhQ
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43. A file organization in which

records are arranged according to

the value of primary key field

is .................. .

(A) Transaction file

(B) Inverted file

(C) Detailed file

(D) Sequential file

44. Match the following and select the

correct answer from the codes given

below :

(i) Documentation (a) Paulin Atherton

(ii) Putting knowledge (b) Eric De Solla

to work Price

(iii) Little science, Big (c) Alvin Tofler

science

(iv) The third wave (d) S. C. Bradford

Codes :

(i) (ii) (iii) (iv)

(A) (a) (b) (c) (d)

(B) (d) (a) (b) (c)

(C) (b) (c) (a) (d)

(D) (c) (b) (d) (a)

43. ---------------------- ;k izdkjP;k lafpdsr uksanhaph

jpuk izkFkfed izeq[k uksan{ks=kP;k ewY;kuqlkj

dsyh tkrs-

(A) V™WU>WD'ku lafpdk

(B) buOgVsZM lafpdk

(C) fMVsYM lafpdk

(D) flDosfU'k;y lafpdk

44. tksMÓk ykok vkf.k ;ksX; mŸkj fnysY;k

ladsrkeËkwu fuoMk %

(i) MkD;wesaVs'ku (a) ikWy vFkjVu

(ii) iqVhax ukWyst Vw odZ (b) bfjd Mh lksyk izkbZl

(iii) fyVy lk;Ul] chx (c) vyfou VkWQyj

lk;Ul

(iv) fn FkMZ Ogso (d) ,l- lh- czWMQksMZ

ladsr %

(i) (ii) (iii) (iv)

(A) (a) (b) (c) (d)

(B) (d) (a) (b) (c)

(C) (b) (c) (a) (d)

(D) (c) (b) (d) (a)
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45. In cataloguing, the name of a

saint taken as a proper name is

called ................. .

(A) Hagionym

(B) Hieronym

(C) Pseudonym

(D) Stigmonym

46. The ICCP directly led to :

(A) Agreement on filing rules

(B) A recognition of corporate

authorship

(C) The development of MARC

format

(D) Concept of shared cataloguing

47. A drawing titled “View of Honolulu”

sketched from mature by Paul

Emmert and printed by Briton and

Rey at San Francisco would be

entered in the main entry according

to AACR-2 under the heading :

(A) View of Honolulu

(B) Emmert, Paul

(C) Briton and Rey

(D) San Francisco

45. larkaps uko gsp ;ksX; (fof'k"V) uko

let.;kyk rkfydhdj.kke/;s ---------------

Eg.krkr-

(A) gWftvksfue

(B) gk;jksfue

(C) f'kMksfue

(D) fLVXeksfue

46. vk;- lh- lh- ih- }kjs ------------------

(A) uksanhaP;k ÿejpusP;k fu;ekackcr ,der

>kys

(B) le"Vh xzaFkdkjkyk ekU;rk feˇkyh

(C) ekdZ lajpuspk fodkl >kyk

(D) lgdkjh rkfydhdj.kkph ladYiuk

vfLrRokr vkyh

47. ikWy besVZ ;kauh dk<ysys o fczVu vkf.k js

;kauh lWu ›WfUll~dks ;sFks Nkiysys] ^^OgÓw vkWQ

gksuksywyw** vls 'kh"kZd vlysY;k fulxZ

fp=kph ,- ,- lh- vkj-&2 uqlkj [kkyhyiSdh

dks.kR;kgh 'kh"kZdk[kkyh eq[; uksan dsyh

tkbZy \

(A) OgÓw vkWQ gksuksywyw

(B) besVZ] ikWy

(C) fczVu vkf.k js

(D) lWu ›WfUll~dks
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48. Some experts consider third

generation of OPACs as :

(A) A little more than imitations of

card catalogues

(B) Primary book finding list that

work best for known item

searching

(C) WebOPACs with GUI

interfaces, Z39.50 complaint

systems

(D) Systems marked by increasing

the number of access

points

49. Limiting the number of entries in

respect of different kinds of material

acquired by the library is :

(A) Simplified cataloguing

(B) Copy cataloguing

(C) Analytical cataloguing

(D) Selective cataloguing

48. dkgh rKkau qlkj vksi Wdph frljh fi<h

Eg.kts -------------------

(A) i=:i rkfydsis{kk FkksMh tkLr lqyHk

(B) eqyr% Kkr okpulkfgR;kP;k 'kks/kklkBh

mi;qDr Bj.kkjh ;knh

(C) th-; w -vk;- ; a=.k slg o scvk si Wd]

Z39-50 l{ke iºrh

(D) tkLrhr tkLr 'kks/k lqfo/kk iqjfo.kkjh

iºrh

49. xzaFkky;kus mikftZr dsysY;k fofo/k izdkjP;k

okpulkfgR;kP;k uksanhaph la[;k e;kZnhr Bso.kkÚ;k

rkfydhdj.kkyk ------------------ Eg.krkr-

(A) lqyHk rkfydhdj.k

(B) dkWih rkfydhdj.k

(C) fo'ys"k.kkRed rkfydhdj.k

(D) fuoMd rkfydhdj.k
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50. Which one of the following would be

correct evolutionary sequence ?

(A) Bibliometrics, Informatics,

Librametry, Webometrics

(B) Bibliometrics, Librametry,

Informatics, Webometrics

(C) Librametry, Bibliometrics,

Informatics, Webometrics

(D) Librametry, Bibliometrics,

Webometrics, Informatics

51. ‘Readers guide to periodical

literature’, a bi-weekly publication is

published by :

(A) H. W. Wilson, New York

(B) Van Nostrand Reinhold, New

York

(C) Academic Press, New York

(D) Harper Collins, New York

50. [kkyhyiSdh dks.krk vpwd mRÿkarhn'kZd ÿe

vkgs \

(A) fcCyhvksesfV™Dl] buQkWjeWfVDl] fyczkesV™h]

oscksesfV™Dl

(B) fcCyhvksesfV™Dl] fyczkesV™h] buQkWjeWfVDl]

oscksesfV™Dl

(C) fyczkesV™h] fcCyhvksesfV™Dl] buQkWjeWfVDl]

oscksesfV™Dl

(D) fyczkesV™h] fcCyhvksesfV™Dl] oscksesfV™Dl]

buQkWjeWfVDl

51. ^fjMlZ xkbZM Vw fifjvkWfMdy fyVjspj* gs

ikf{kd -------------------- izdkf'kr djrs-

(A) ,p- MCyw- foYlu] U;w;kdZ

(B) OgWu ukWlV™WUM jkbZugksYM] U;w;kdZ

(C) vWdWMsfed izsl] U;w;kdZ

(D) gkiZj dksfyUl] U;w;kdZ
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52. Match the following and select the

correct answer from the codes given

below :

(i) OCLC (a) Metadata

(ii) Dublin Core (b) Ohio

(iii) DOI (c) NetFirst

(iv) CSDGM (d) Persistent

Identification

Codes :

(i) (ii) (iii) (iv)

(A) (b) (a) (d) (c)

(B) (b) (a) (c) (d)

(C) (c) (b) (d) (a)

(D) (a) (b) (d) (c)

53. Match the following and select the

correct answer from the codes given

below :

(i) Weekly Listing (a) Trade Literature

(ii) List of Nobel (b) Benet’s Reader’s

Prize Winners Encyclopedia

(iii) Literary Terms (c) The world

almanac and

book of facts

(iv) Primary Documents (d) BNB

Codes :

(i) (ii) (iii) (iv)

(A) (d) (c) (b) (a)

(B) (c) (d) (b) (a)

(C) (a) (c) (d) (b)

(D) (c) (a) (b) (d)

52. tksMÓk ykok vkf.k ;ksX; mŸkj fnysY;k

ladsrkdMwu fuoMk %

(i) vks- lh- ,y- lh- (a) esVkMsVk

(ii) MfCyu dksj (b) vksfgvks

(iii) Mh- vks- vk;- (c) usVQLVZ

(iv) lh- ,l- Mh- th- ,e- (d) iflZl~VaV  vk;MsUVh&
fQds'ku

ladsr %

(i) (ii) (iii) (iv)

(A) (b) (a) (d) (c)

(B) (b) (a) (c) (d)

(C) (c) (b) (d) (a)

(D) (a) (b) (d) (c)

53. tksMÓk tqˇok vkf.k ;ksX; mŸkj fnysY;k
ladsrke/kwu fuoMk %

(i) lkIrkghd ;knh (a) O;kikjh ok≥~e;

(ii) ukscy ikfjrks"kd (b) csusVl~ fjMlZ

fotsR;kaph ;knh ,ulk;DyksfifM;k

(iii) ok≥~e;hu laKk (c) fn oYMZ vyeWusd

vWUM cqd vkWWQ

QWDVl~

(iv) izkFkfed izys[k (d) ch- ,u- ch-

ladsr %

(i) (ii) (iii) (iv)

(A) (d) (c) (b) (a)

(B) (c) (d) (b) (a)

(C) (a) (c) (d) (b)

(D) (c) (a) (b) (d)
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54. Which of the following does not aid

in improving consistency in

indexing ?

(A) Use of a standard list of subject

headings

(B) Use of a Thesaurus

(C) Paying attention to associative

relationships in the Thesaurus

(D) A high degree of exhaustivity

in indexing

55. To which category of subject

bibliographies does “Advances in

Environmental Science and

Technology” belong to :

(A) Subject Index

(B) Abstracts

(C) Bibliographical Review

(D) Bibliography

56. An ‘Ontology’ is :

(A) Alphabetical list of classes

(B) Hierarchical list of terms

(C) List of index terms

(D) Subject headings

54. funsZ'kukrhy lkrR; ok<fo.;klkBh [kkyhyiSdh

dks.krk ?kVd enrhpk Bjr ukgh \

(A) izekf.kr fo"k; 'kh"kZd ;k|kapk okij

(B) fFklkWjlpk okij

(C) fFklkWjle/khy vlksf'k,fVOg fjys'kUl

fopkjkr ?ks.ks

(D) funsZ'kukrhy loksZPp loZlekos'kdrk

55. ^^vWMOgkUlsl bu ,uOgk;uZesaVy lk;Ul vWUM

VsDukWykWth** gh dks.kR;k izdkjph fo"k;

xzaFklwph vkgs \

(A) fo"k; funsZ'k

(B) lkj

(C) xzaFklwph; vk<kok

(D) xzaFklwph

56. vkWUVksykWth gs -------------------- vkgs-

(A) fo"k;oxkZph vuqoxZ ;knh

(B) laKkaph ik;jhcº ;knh

(C) funsZ'k laKkaph ;knh

(D) fo"k; 'kh"kZd
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57. Which of the following enhances

recall ?

(A) Boolean AND

(B) Boolean OR

(C) Boolean NOT

(D) Single Term

58. Which of the following is not a

Thesaurus relationship ?

(A) Associative

(B) Embedded

(C) Equivalence

(D) Hierarchical

59. In ‘Building Block’ search strategy

to increase the precision, you can :

(A) Add a facet

(B) Increase the postings in the

facet

(C) Remove a facet

(D) You cannot increase the

precision

60. In PRECIS, role operator 0 (zero)

is allotted for :

(A) Action

(B) Object

(C) Agent

(D) Location

57. [kkyhyiSdh dks.kR;k ?kVdkeq š fjdkWy ok<w

'kdrks \

(A) cqfy;u AND

(B) cqfy;u OR

(C) cqfy;u NOT

(D) ,dy laKk (flaxy VeZ)

58. [kkyhyiSdh dks.krk laca/k fFklkWjle/;s lekfo"V
ulrks \

(A) lglaca/k

(B) la;qDr laca/k

(C) lekukFkhZ laca/k

(D) ik;jhcº laca/k

59. ^fcYMhax CykWd* 'kks/k O;wg jpuse/;s rarksrari.kk

(fizfltu) ok<fo.;klkBh rqEgh dk; djky \

(A) vk.k[kh ,d iSyw lekfo"V djky

(B) iSywph okjaokjhrk ok<oky

(C) ,d iSyw deh djky

(D) rarksrari.kk ok<ow 'kd.kkjp ukgh

60. izslhe/;s 0 (f>jks) gk jksy vkWijsVj
------------------ n'kZforks

(A) fÿ;k

(B) oLrw

(C) e/;LFk

(D) LFkˇ
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61. ‘RSS’ is an Acronym for :

(A) Resources of social science

(B) Rich site summary

(C) Retrieval of standard sources

(D) Research standards for science

62. Name the type of indexes in which

correlation is performed at the time

of search :

(A) Chain indexes

(B) Post-co-ordinate indexes

(C) Non-manipulative indexes

(D) Pre-co-ordinate indexes

63. The principle of canonical sequence

is associated with :

(A) Facet sequence

(B) Fundamental categories

(C) Helpful sequence

(D) Basic laws

61. ^vkj- ,l- ,l-* gÓk la{ksikpk ---------------

vFkZ vkgs-

(A) fjlkslsZt QkWj lks'ky lk;Ulsl

(B) fjp lkbZV lejh

(C) fjfV™Ogy vkWQ LVWUMMZ lkslsZl

(D) fjlpZ LVWUMMZ QkWj lk;Ul

62. [kkyhyiSdh dks.kR;k funsZ'kke/;s ekfgrh 'kksËk

?ksrkuk laKk leUo; dsyk tkrks \

(A) 'k`a[ky funsZ'k

(B) i'pkr leUo; funsZ'k

(C) gLr{ksi fojghr funsZ'k

(D) iwoZ leUo; funsZ'k

63. ^dWukWfudy flDosUl* gs rRo [kkyhyiSdh

d'kk'kh fuxMhr vkgs \

(A) iSyw vuqÿe

(B) ewyHkwr ?kVd

(C) lkgk∏;dkjh ÿe

(D) ewˇ lw=
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64. Through which mode of

subject formation ‘Indology’ is

formed ?

(A) Clustering

(B) Distillation

(C) Lamination

(D) Fusion

65. Arrange the following in order as

given in Colon Classification :

(i) ∆

(ii) X

(iii) Σ

(iv) 4

The correct answer is :

(A) (i), (iii), (ii), (iv)

(B) (iv), (i), (iii), (ii)

(C) (iii), (i), (iv), (ii)

(D) (i), (iv), (ii), (iii)

66. Identify the device that helps in

interpolation in array :

(A) Chronological Device

(B) Superimposition Device

(C) Facet Device

(D) Emptying Device

64. ^bUMksykWth*] gk fo"k;] fo"k; fufeZrhP;k

dks.kR;k iºrhuqlkj r;kj >kyk vkgs \

(A) DyLVfjax

(B) fMLVhys'ku

(C) yWfeus'ku

(D) ∂;wtu

65. f}fcanw oxhZdj.kkr fnY;kuqlkj [kkyhy oxk±ph

jpuk djk %

(i) ∆

(ii) X

(iii) Σ

(iv) 4

;ksX; mŸkj vkgs %

(A) (i), (iii), (ii), (iv)

(B) (iv), (i), (iii), (ii)

(C) (iii), (i), (iv), (ii)

(D) (i), (iv), (ii), (iii)

66. iaDrhrhy lekos'kuklkBh dks.krh DywIrh mi;qDr

Bjrs \

(A) dkyÿe DywIrh

(B) vf/klekos'ku DywIrh

(C) iSyw DywIrh

(D) fujFkZd DywIrh
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67. Who first proposed the concept of

‘Literary Warrant’ as the basis of

book classification ?

(A) Henry Evelyn Bliss

(B) H. W. Hulme

(C) S. R. Ranganathan

(D) W. C. Berwick Sayers

68. Which of the following cannot be

stated as the advantages of use of

devices in classification schemes ?

(A) They make it possible to avoid

enumeration

(B) They provide autonomy to a

classifier

(C) They satisfy the library users

(D) They satisfy the canon of

helpful sequence

69. Which of the following is not true

about the need to organize

information ?

(A) We organize information

because we need to retrieve

(B) We organize information for

posterity

(C) We organize information as it

is a basic human drive

(D) We organize information

because of its reliability

67. xzaFk oxhZdj.kklkBh ^fyVjjh okWjaV* gh ladYiuk

izFker% dks.kh lqpfoyh \

(A) gsUjh ,Ogsfyu fCyl

(B) ,p- MCyw- gÓwYe

(C) ,l- vkj- jaxukFku

(D) MCyw- lh- cjfod lsvlZ

68. oxhZdj.k iºrhrhy DywIR;k [kkyhyiSdh

dks.kR;k dkj.kklkBh Qk;ns'khj Bjr ukghr \

(A) ifjx.kukRedrk Vkˇ.;klkBh

(B) oxhZdj.kdR;kZyk Lokra´; ns.;klkBh

(C) xz a F k ky;kP;k okpdk ap s lek/k ku

dj.;klkBh

(D) lgk∏;dkjh ÿekP;k lw=kps lek/kku

dj.;klkBh

69. ekfgrh la?kVukfo"k;hps [kkyhyiSdh dks.krs foËkku

lR; ukgh \

(A) ekfgrhpk 'kks/k ?ks.;klkBh vki.k ekfgrhps

la?kVu djrks

(B) iq<hy fi<hlkBh vki.k ekfgrhps la?kVu

djrks

(C) ekuokph ew̌  xjt Eg.kwu vki.k ekfgrhps

la?kVu djrks

(D) ekfgrhP;k fo'olfu;rseqˇs vki.k

ekfgrhps la?kVu djrks
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70. Sumerians wrote on :

(A) Clay Tablets

(B) Papyrus

(C) Vellum

(D) Parchment

71. Library legislation is not needed

for :

(A) Proper library planning

(B) Steady and continuous supply

of funds

(C) Providing support and

encouragement to Government

(D) Providing effective library

service to citizens

72. Which one of the following is used

as a digital library software ?

(A) DNA Tool

(B) Dreamweaver

(C) Greenstone

(D) Adobe Photoshop6

70. lqesfj;Ul fy[kkuklkBh d'kkpk okij djr

gksrs %

(A) e`fŸkdk iÍh

(B) HkwtZi=

(C) okljkps e≈ dkrMs (Ogsye)

(D) peZi= (ikpZesaV)

71. [kkyhyiSdh dks.kR;k dkj.kklkBh xzaFkky;

dk;nk vko';d ukgh \

(A) xazFkky;kP;k ;ksX; fu;kstuklkBh

(B) lkrR;kus vFkZlkgk∏; feˇ.;klkBh

(C) 'kklukyk enr vkf.k izksRlkgu ns.;klkBh

(D) ukxfjdkauk ifj.kkedkjd xzaFkky; lsok

ns.;klkBh

72. [kkyhyiSdh dks.krh iz.kkyh vafd; xzaFkky;klkBh

okijyh tkrs \

(A) fM-,u-,- Vqy

(B) fM™efOgoj

(C) xzhuLVksu

(D) vMksc QksVks'kkWi6
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73. Which of the following is not a

standard for encoding records ?

(A) SGML

(B) MARC21

(C) ONIX

(D) W3C

74. According to CCC the entry element

in the home of an administrative

department of a government is to be

the word or word group denoting the

sphere of work. This rule meets the

requirements of :

(A) Canon of Prepotence

(B) Canon of Context

(C) Canon of Recall Value

(D) Canon of Individualisation

75. Who gave 91 rules for standardizing

the cataloguing of book ?

(A) Callimachus

(B) Charles Amy Cutter

(C) Antonio Panizzi

(D) S. R. Ranganathan

73. [kkyhyiSdh dks.krs uksanhP;k ladsfrdj.kkps

izek.kd ukgh \

(A) ,l- th- ,e- ,y-

(B) ekdZ21

(C) vksfuDl

(D) MCyw3lh

74. lhlhlhuqlkj 'kklukP;k iz'kkldh; foHkkxkps

uko n'kZfo.kkÚ;k uksan ?kVdke/;s R;k foHkkxkP;k

dk;kZph O;kIrh n'kZfo.kkjk 'kCn fdaok 'kCn

lewg vl.ks xjtsps vkgs- gk fu;e d'kkph

iwrhZ djrks \

(A) egRoÿe lw=

(B) iwokZikn laca/k lw=

(C) iquekZx.kh ewY; lw=

(D) O;fDr oSf'k"VÓkps lw=

75. xzaFk rkfydhdj.kkP;k izek.khdj.kklkBhps 91

fu;e dks.kh lkafxrys \

(A) dWyheWpql

(B) pkYlZ veh dVj

(C) vWUVksuhvks iWfu>h

(D) ,l- vkj- jaxukFku

http://www.studentbounty.com/
http://studentbounty.com/


32

DEC–18313/III

ROUGH WORK
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